FgArea: [0 ]
NC11 P3-8
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Trend plot forP3-8 0
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P3-8

BfiE) | GEBATK (7)) | EBE (EFH/HK) = ERE

06:30 138 90.0 & Fn#fe06:30 (KFERES)
07:15 138 90.0 & FiHRe07:15 (KRF{ERLEE
08:00 138 90.0 5 7 E@08:00 (AR F1EEES)
08:45 138 90.0 & FnHfe08:45 (KRFEERES)
09:50 138 90.0 & FnHR09:50 (RFfERLEE)
10:45 138 90.0 & FiHA@10:45 (REA{ERHSE)
11:35 138 90.0 & FfAe11:35 (RPHERSE)
12:25 138 90.0 5 FiHfe12:25 (REERE)
13:10 138 90.0 & FRHA@13:10 (REAERHSE)
14:00 138 90.0 i FnHfe14:00 (KREERSS)
14:55 138 90.0 Gl FiHpe14:55 (KRFEEREE)
16:05 138 90.0 5 FiHA@16:05 (ARFAEREE)
2it]1656.0 (12%) 1080. 0 3ZHKEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T

VNN =A
BEFZ

MR R 56
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P3-8

BYE) | GEBERTIC (B)) | EME (EAH/#K) | XS R

06:45 60 80.0 | TA 1B1%e06:45 (KRFERE)
07:35 60 80.0 A 1R1&@07:35 (R FHfERLES)
08:25 60 80.0 A BRi%@e08:25 (KRFIFERER)
09:15 60 80.0 1] B3%@09: 15 (KRFEERSE)
10:00 60 80.0 A B31£@10:00 (KAL)
10:45 60 80.0 3] Ri%@10:45 (RFFERER)
11:30 60 80.0 |Z=& Bi%011:30 (REERSE)
12:25 60 80.0 |Z =& Bige12:25 (KREERSE)
13:35 60 80.0 |Z = Bi%013:35 (REERSE)
14:50 60 80.0 A Bi%@14:50 (REERSE)
16:00 60 80.0 |Z=& B318@16:00 (KRFEREEE)
21t+]660.0 (11%) 880.0 3 3FKEC: 2000.0, PH: 6.5

EOREBRTK (90. 0) 5FHA (123. 0) R Ff, FIRERR T % MREEZ S E XER

ZRIAKPRIEBLS8. 0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

Mot 2R 56
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P3-8

BfiE) | BRI (D) | EE (EH/AR) | XK R

01:00 60 80.0 5 {B21&@01:00 (KR F{ERLEE)
02:00 60 80.0 5 B1%@02:00 (KRFERSE)
03:00 60 80.0 & 1B31£@03:00 (K F{ERLEE)
07:10 60 80.0 5 BR1%@07:10 (KR FfERES)
08:40 60 80.0 5 B1%008:40 (KRFERSE)
09:35 60 80.0 |Z =& 1B318@09:35 (KRFEREE)
10:15 60 80.0 5 B1&@10:15 (KRFEREE)
10:55 60 80.0 = BRi%e10:55 (RAEFERER)
11:30 60 80.0 |Z=& BRig@11:30 (REERSE)
12:15 60 80.0 |Z= BRi&e12:15 (RFEERES)
13:00 60 80.0 (&= BRi%e13:00 (RF1EREEE)
13:35 60 80.0 |Z=& B1%013:35 (KREERSE)
14:20 60 80.0 |Z= BRi&@14:20 (RFERES)
15:30 60 80.0 (&= BRi&@15:30 (KFEREE)
=3[ 840.0 (14)%) 1120.0 32UHKEC: 1900.0, PH: 6.5

EREBRTK (60. 0) 5THA (133. 0) NFF, FIRERR T % MEIEZR S E XER

ZRINKPRIEBRL36.0 ml.

unusual large postFgEt from yesterday (266), set to 240.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
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MEARBR TR




P3-8_0, Day=2 (2025-03-31)

FRV (ml plant—1)

ET (ml/hr/plant)

g f——Ff—F——oFf—oonFf—o e ——— ]
VI, VO, &gV, ET — VI, VO, FVI, EVO, FRV, ad jFRV, ET 9611 1000
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00 Warning: lcol [FVI',| "FVO'] missing b o
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Warning: lcol ["ECC'] is missing
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P3-8

BFE) | GEBAETK () | EliE (EAH/HR) | XS R

08:05 60 130.0 5 B1%@08:05 (KRFERKSE)
08:55 60 130.0 5 B1%@08:55 (KRFERSE)
09:45 60 130.0 & 318009 :45 (KRFEREEE)
10:35 60 130.0 5 B1%010:35 (RFERSE)
11:30 60 130.0 = BRi%e11:30 (RAFERSE)
12:25 60 130.0 & BRi&@12:25 (RFEREE)
13:30 60 130.0 &= RRi%@13:30 (KRAERES)
14:45 60 130.0 (2= BRi%e14:45 (RE1ERER)
=it| 480.0 (8%) 1040.0 3203 KEC: 1300.0, PH: 6.5

EREER IR LR K (0.65 vs 0.55)), AJEER S IAEESREERK
LRGERETC (60. 0) 5714 (236. 0) FF, FIREH T & MG EIRS & XER

BRI\ SLFRGERE33. 0 ml.
HER i Bl RECEIHE SR K.
FE RSB HEREC/PH{ES K, 1]

RERZMMARELR R




P3-8_0, Day=1 (2025-03-30)

ET (ml/hr/plant)

VI, VBB¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2000
1007 - 1500 T
911t 1000
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Warning: lcol [FVI',| "FVO'] missing
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Warning: lcol ['PHC'] is missing
5.5 1
| "
! k
300 - 1
ByWoFv @D4 06:59: ET=911 Fg=1040.0 Ro=88.0
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